Computer Structure

Assignment 4
Deadline: 3/3/08 18:00 

1. Use only one unit of Multiplexer of order 4(1 (4 input bits, 2 control bits and 1 output) to obtain the function:

f(w,x,y,z) = SIGMA(2,5,6,7,12,13) + SIGMA d (3,10,14,15)

Constants and logical gates are not available.

2. Implement the function z of 4 variables I0, I1, I2, and I3 (I0 is MSB and I3 is LSB), that returns 1 if and only if the number I0 I1 I2 I3 is prime. 
Use only one MUX unit and constants. (Don't use gates)
3. Complete the timing diagram below for the following D latch:
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Assume Q begins at 0. First draw Q based on your understanding of the behavior of the D latch, next draw S and R.
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4. Implement an SR-FF using one T-FF (we did the opposite in class).
5.  

שאלה ממבחן תשס"ה סמסטר א' מועד א'
נתון אוגר הזזה 4-bit. 
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בשמונה פעימות השעון הבאות יכנסו אל כניסת הקלט של האוגר  הביטים של מספר בן שמונה ביטים, אחד אחרי השני.  שרטט מעגל הכולל את האוגר הנ"ל, ובו קו יציאה "equal", שערכו יהיה "1" אם רביעיית הביטים הראשונים זהה לרביעייה השניה, ו-"0" אחרת.

א. (8%) כאשר לרשותך מינימום שערים לוגים, 4 יחידות FF (הסוג – לבחירתך) וקבועים.

ב. (12%) כאשר לרשותך מינימום שערים לוגים, 3 יחידות FF לכל היותר וקבועים.

